12/6/2012                     EE324 – Electromagnetic Theory                    Test III
(Closed Book Exam)
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Problem # 1 (25 Points) 6.2
The loop in the figure is in the x-y plane. 
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with B0 positive. What is direction of I 
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Problem # 2 (25 Points) 6.25
[image: image6.wmf]
The Electric field in a dielectric material is given by
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. Find associated magnetic field 
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Problem # 3 (25 Points) 7.12
The Electric field in air is given by
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Determine the polarization angles 
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 and the direction of dfrotation.
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Problem # 4 (25 Points) 8.2b
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Right elliptical polarization
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